1) Dané su komplexnéslaa=1+2i,b=2—-i.Uitea+b,a—-b,a.b,a/b, |3
fistite &idislo a = ;— i E Jekomplexna jednotha
RieSenie:
a) a+b=(1+2i) +(2- ) = 3+i

b} a-b=(1+2))-(2-i)=—1+3i
c) a.b={1+2i)(2-i)=2+4i-1-2F=2+3i+2=4+3i
1428 1428 248 2+%+i+2° 245-2 5

d) - = . - = i = =—=3
2—i 2—i 241 4 - 441 5

e) o] = 1P+ 22 =T+d =15

4 3

_——I—

ora N =N,

Cisin a_je komplexnd jednotha

a) a=4-3i b=2+i
b) a=-2+3i b=2-5i
c) a=5-3i b=-4-2i

d a=-2i b=-7-i
a) a=-2-2i
b) a=1+i
3 4.
c) a=-———i
5 5

2) Vypcitajte:

1- 24
34 di
RieSenie:
1-2i 3-4i 3-6i- 41‘+81‘2_—5—1E]3' Gi—1- 241 —1—215__1_31_
Trd I— 4 9—16;° 2416 5 5 05
-2 1y ( |l J—
34 45 5 25
a) 272
5-4
b) —2—$|
5-4
0 —4+_3|
=5




d)|

6+i
3-8

3) Vypcitajte:

_[1—1‘]2_[1+1‘T
1+: 1—

RieSenie:

() )

[1 ] _l-24dt 1-a-1 2%

14i) 14247 1+2i-1 28

5o (LHi 1+2i+i2_1+2i—1__23'__1
1- 1-2i+i* 1-2-1 2

A=4-5

X=-1--11=-141=0
3 =]
;{:(lj] _(12] =10
1+ 1-1
a) X = (
X =(

x[z
4—

4-

R
) {22)

} (5




